Finish It – Lesson 11
Directions: Complete each sentence.
1.) The runner’s lack of agility caused him to . . .
_______________________________________________________________________
2.) Nathan felt disconcerted when taking the test because . . .
_______________________________________________________________________
3.) Alayssa could tell the dogs were voracious because . . .
_______________________________________________________________________
4.) Angelica was surprised when she saw her dad devour . . .
_______________________________________________________________________
5.) Jason did not see the tree stump protruding from the ground, so . . .
_______________________________________________________________________
6.) Because the food at the restaurant was repugnant, David . . .
_______________________________________________________________________
7.) When we told the chef his meal was palatable, he . . .
_______________________________________________________________________
8.) Bailey had to appease her mother after she . . .
_______________________________________________________________________
9.) As a result of Mrs. Theriault’s dogged investigating, she . . .
_______________________________________________________________________
[bookmark: _GoBack]10.) Ella was livid when . . .  
_______________________________________________________________________
